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Abstract

This research deals with how to derive statistical properties of probability
distributions Kalost arithmetic and median and mode, contrast, standard deviation
and coefficient of convolution and coefficient of kurtosis users the moments about
the point of origin and the central moments that were derived and recognized in the

theoretical framework. Also it has been a distributive function and moment
generating function and the characteristic of a number of probability distributions
intermittent and persistent has been reached derivative properties intermittent
distribution and regular distribution of Bernoulli and Binomial distribution and the
distribution of binomial negative and distribution engineering and distribution
hypergeometric for distributions intermittent. And regular distribution and
exponential distribution and distribution of gamma and beta Tsoaa natural and
distribution of natural and distribution standard for continuous distributions. With
describes how to apply these properties through practical examples, it has been
reached derivative of some measures that were previously only are formulas but

were derived and substantiated.
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